
Tune IF Bridge

2023-12-10  mandag 11.12.2023 2 Slutresultat
6 bord, 12 par. Antal spil: 24. Middel: 120,0. Middel+/=/- giver 60 / 50 / 40 %.

Plac Par Score % Navn M-ID

1 11 172,6 71,9 Peder Jensen - John Larsen 95 54
2 6 141,4 58,9 Lise Persson - Birthe Henriksen 76 34
3 2 136,8 57,0 Bente Russ - Jette Andreasen 69 27
4 14 130,0 54,2 Jytte Kristiansen - Bente Otto 52 68
5 3 128,2 53,4 Ebba Mygind - Susanne Grøntoft 10 57

6 12 128,0 53,3 Inger Sylvestersen - Jane Sørensen 73 72
 16 128,0 53,3 Irene Frederiksen - Ruth Witting 64 61

8 1 123,0 51,3 Nelly Andersen - Hanne Andersen 33 24
9 4 109,4 45,6 Jørgen Ypkendanz - Lene Br.Larsen 20 5

10 15 90,8 37,8 Ella Kjær Sørensen - Elin Olsen 32 14

11 5 81,2 33,8 Lissy Larsen - Kirsten Pipper 62 4
12 13 70,6 29,4 Kirsten Roed - Kirsten Ravn 59 74



Tune IF Bridge

2023-12-10  mandag 11.12.2023 2 Slutresultat
6 bord, 12 par. Antal spil: 24. Middel: 120,0. Middel+/=/- giver 60 / 50 / 40 %.

Par Kontr Resultat Point
Spil:  1

6 16 4 V -3 150       10,0 0,0
4 12 3U V -2 100       8,0 2,0
1 11 2 V -1 50       6,0 4,0
5 14 2 S -1 -50 4,0 6,0
3 15 2 N -2 -100 2,0 8,0
2 13 2U Ø = -120 0,0 10,0

Par Kontr Resultat Point
Spil:  2

3 15 2U N = 120       10,0 0,0
2 13 2 N = 110       8,0 2,0
4 12 2 Ø -2 100       6,0 4,0
5 14 1U Ø -1 50       4,0 6,0
1 11 3U N -3 -300 1,0 9,0
6 16 4 S -3 -300 1,0 9,0

Par Kontr Resultat Point
Spil:  3

2 13 3U N = 400       10,0 0,0
6 16 4 Ø -3 300       8,0 2,0
3 15 2U N +2 180       6,0 4,0
5 14 2U N = 120       4,0 6,0
4 12 3U Ø -1 100       2,0 8,0
1 11 2U N -2 -100 0,0 10,0

Par Kontr Resultat Point
Spil:  4

3 15 4 Ø -2 200       10,0 0,0
6 16 3 Ø -1 100       8,0 2,0
2 13 2 Ø = -110 6,0 4,0
1 11 2 Ø +1 -140 2,0 8,0
4 12 2 Ø +1 -140 2,0 8,0
5 14 2 Ø +1 -140 2,0 8,0

Par Kontr Resultat Point
Spil:  5

2 12 4 N = 620       9,0 1,0
3 14 4 N = 620       9,0 1,0
6 15 2U N = 120       6,0 4,0
5 13 2 N = 110       4,0 6,0
4 11 4 S -1 -100 2,0 8,0
1 16 4 S -2 -200 0,0 10,0

Par Kontr Resultat Point
Spil:  6

1 16 3U S +2 460       9,0 1,0
6 15 3U S +2 460       9,0 1,0
2 12 3U S +1 430       4,0 6,0
4 11 3U S +1 430       4,0 6,0
5 13 3U N +1 430       4,0 6,0
3 14 3U S = 400       0,0 10,0

Par Kontr Resultat Point
Spil:  7

1 16 3U N +3 690       8,0 2,0
3 14 3U N +3 690       8,0 2,0
5 13 3U N +3 690       8,0 2,0
2 12 3U N +1 630       4,0 6,0
6 15 2U N +4 240       2,0 8,0
4 11 2U N = 120       0,0 10,0

Par Kontr Resultat Point
Spil:  8

6 15 3U N = 400       10,0 0,0
2 12 2U N +3 210       8,0 2,0
1 16 3 N +1 170       6,0 4,0
5 13 2U N +1 150       4,0 6,0
4 11 2 N +2 130       2,0 8,0
3 14 5 N -2 -100 0,0 10,0



Tune IF Bridge

2023-12-10  mandag 11.12.2023 2 Slutresultat
6 bord, 12 par. Antal spil: 24. Middel: 120,0. Middel+/=/- giver 60 / 50 / 40 %.

Par Kontr Resultat Point
Spil:  9

3 13 1U S +2 150       10,0 0,0
2 11 1 S +1 110       8,0 2,0
6 14 1 S = 80       6,0 4,0
1 15 3 N -1 -50 4,0 6,0
5 12 3U N -2 -100 2,0 8,0
4 16 1U S -3 -150 0,0 10,0

Par Kontr Resultat Point
Spil:  10

3 13 1 S = 80       10,0 0,0
1 15 2 V = -90 7,0 3,0
4 16 2 Ø = -90 7,0 3,0
6 14 2U N -1 -100 4,0 6,0
5 12 2U N -2 -200 2,0 8,0
2 11 2U N -3 -300 0,0 10,0

Par Kontr Resultat Point
Spil:  11

3 13 1x S = 160       10,0 0,0
4 16 3 Ø -3 150       8,0 2,0
5 12 1 S = 80       5,0 5,0
6 14 1 S = 80       5,0 5,0
1 15 1 S -2 -100 1,0 9,0
2 11 1 S -2 -100 1,0 9,0

Par Kontr Resultat Point
Spil:  12

1 15 3 N +1 170       9,0 1,0
6 14 3 N +1 170       9,0 1,0
3 13 3 N = 140       6,0 4,0
2 11 5 N -2 -200 4,0 6,0
4 16 4 Ø = -420 2,0 8,0
5 12 4 Ø +1 -450 0,0 10,0

Par Kontr Resultat Point
Spil:  13

1 14 2 N +1 110       10,0 0,0
3 12 3 V = -140 7,0 3,0
4 15 3 V = -140 7,0 3,0
6 13 2 V +2 -170 4,0 6,0
2 16 2U Ø +2 -180 2,0 8,0
5 11 3 N -2 -200 0,0 10,0

Par Kontr Resultat Point
Spil:  14

2 16 4 Ø -2 100       10,0 0,0
3 12 2U V -1 50       8,0 2,0
1 14 2 N -1 -50 6,0 4,0
5 11 2 Ø = -110 4,0 6,0
6 13 2 Ø +1 -140 2,0 8,0
4 15 1 V +4 -150 0,0 10,0

Par Kontr Resultat Point
Spil:  15

6 13 3 N +1 170       10,0 0,0
4 15 3 N = 140       8,0 2,0
3 12 5x Ø -1 100       6,0 4,0
2 16 3 Ø +1 -130 4,0 6,0
5 11 3 Ø +2 -150 2,0 8,0
1 14 4 N -2 -200 0,0 10,0

Par Kontr Resultat Point
Spil:  16

2 16 2 Ø -1 100       9,8 0,2
6 13 1 N = 80       7,4 2,6
3 12 Pass 0       5,0 5,0
4 15 2 S -1 -50 1,4 8,6
5 11 1 S -1 -50 1,4 8,6
1 14 M=/M= 5,0 5,0



Tune IF Bridge

2023-12-10  mandag 11.12.2023 2 Slutresultat
6 bord, 12 par. Antal spil: 24. Middel: 120,0. Middel+/=/- giver 60 / 50 / 40 %.

Par Kontr Resultat Point
Spil:  17

1 13 2 Ø = -110 8,0 2,0
2 15 2 Ø = -110 8,0 2,0
6 12 3 V = -110 8,0 2,0
3 11 2 Ø +1 -140 3,0 7,0
5 16 2 Ø +1 -140 3,0 7,0
4 14 3 Ø +1 -170 0,0 10,0

Par Kontr Resultat Point
Spil:  18

1 13 2 S = 110       10,0 0,0
2 15 3 Ø -1 50       7,0 3,0
6 12 3 V -1 50       7,0 3,0
4 14 1U Ø = -90 4,0 6,0
5 16 3 Ø +1 -130 2,0 8,0
3 11 3 S -2 -200 0,0 10,0

Par Kontr Resultat Point
Spil:  19

2 15 4 S = 420       10,0 0,0
4 14 4 V -2 200       8,0 2,0
1 13 3 N +1 130       6,0 4,0
3 11 2 S +1 110       4,0 6,0
5 16 3 V -1 100       2,0 8,0
6 12 2 V +1 -140 0,0 10,0

Par Kontr Resultat Point
Spil:  20

1 13 1U N +1 120       10,0 0,0
2 15 1U N = 90       8,0 2,0
4 14 2 N -1 -100 6,0 4,0
6 12 2U Ø = -120 4,0 6,0
3 11 3 V +1 -170 2,0 8,0
5 16 5 S -3 -300 0,0 10,0

Par Kontr Resultat Point
Spil:  21

1 12 4 V -2 100       10,0 0,0
4 13 4 V -1 50       8,0 2,0
3 16 5 N -1 -100 6,0 4,0
5 15 3 Ø = -140 3,0 7,0
6 11 3 V = -140 3,0 7,0
2 14 4 N -2 -200 0,0 10,0

Par Kontr Resultat Point
Spil:  22

4 13 3 S = 140       10,0 0,0
6 11 4 N -1 -50 8,0 2,0
5 15 3 S -2 -100 6,0 4,0
3 16 1 Ø +2 -140 4,0 6,0
2 14 3 Ø +1 -170 2,0 8,0
1 12 4 Ø = -620 0,0 10,0

Par Kontr Resultat Point
Spil:  23

2 14 4 S = 620       9,0 1,0
4 13 4 S = 620       9,0 1,0
5 15 2 S +2 170       5,0 5,0
6 11 2 S +2 170       5,0 5,0
3 16 3 S = 140       2,0 8,0
1 12 4x S -1 -200 0,0 10,0

Par Kontr Resultat Point
Spil:  24

5 15 3 N +1 170       9,8 0,2
1 12 4 S -1 -50 5,0 5,0
2 14 4 S -1 -50 5,0 5,0
4 13 4 S -1 -50 5,0 5,0
3 16 4 S -3 -150 0,2 9,8
6 11 M=/M= 5,0 5,0


